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1 Introduction
In last RAN3 meeting, It was agreed that registration via the registration procedure is mandatory for the HeNB supporting X2GW. Supporting the registration procedure is optional for eNB. 

This contribution discussed the issue if eNB don’t perform registration procedure to the X2GW.
2 Discussion
With above agreement, standard solution works well if a (H)eNB find a HeNB cell as shown in Figure 1.
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Figure 1: X2 Setup procedure in case of (H)eNB find HeNB cell
When the HeNB discovers the eNB, it triggers the TNL address discovery to get the IP of the eNB. HeNB sends X2 X2AP MESSAGE TRANSFER message including X2 SETUP REQUEST message to the X2GW. The RNL header includes the eNB ID and HeNB ID. If eNB don’t register to the X2GW, X2GW don’t know which is the target node to route the message as shown in Figure 2.
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Figure 2: X2 Setup procedure in case of HeNB find eNB cell
Following the spirint of the compromised method proposed by rapporteur in [1], the following solution can solve the problem. 
· Registration of HeNBs at switch on via the “registration via X2AP” procedure is mandatory for HeNBs supporting X2GW. 

· Registration of eNB by HeNB during X2 setup is optional

· No registration procedure to be supported by eNB or it is optional.

With this compromised solution, registration of eNB is left to operator choice via one of the following method:

· O1: X2GW is configured with the mapping (eNB ID, IP@)

· O2: Use of registration during X2 setup: when HeNB trigger X2 setup procedure with a discovered eNB, the HeNB may register the eNB to X2GW during X2 setup.

Advantages of this compromise:

· Can avoid O&M configuration if desired (if O1 not used)

· eNB doesn’t need to support any registration procedures (neither via X2AP nor during X2setup)

· X2 Setup remains the first X2AP message for the eNB

Proposal: Agree the compromised solution as the way forward.

3 Conclusion
We kindly propose RAN3 to agree the following proposal and the corresponding CR in [2][3].
Proposal: Agree the compromised solution as the way forward.
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